

Solution

1



$$\text{Gauss: } \vec{E} = \frac{1}{4\pi\epsilon_0} \frac{Q_{\text{int}}(r)}{r^2} \hat{r}$$

$$r < a \quad \vec{E} = 0$$

$$a < r < b \quad Q_{\text{int}} = \int_a^r \kappa z \cdot 4\pi z^2 dz = \pi \kappa (r^4 - a^4)$$

$$\vec{E}(r) = \frac{\kappa (r^4 - a^4)}{4\epsilon_0 r^2} \hat{r}$$

$$r > b \quad Q_{\text{int}} = \int_a^b \kappa z \cdot 4\pi z^2 dz = \pi \kappa (b^4 - a^4)$$

$$\vec{E}(r) = \frac{\kappa (b^4 - a^4)}{4\epsilon_0 r^2} \hat{r}$$

② Del teorema di Ampere:

$$\oint \vec{B} \cdot d\vec{l} = \mu_0 I_{\text{conc}}$$

$$\Rightarrow B(r) = \frac{\mu_0}{2\pi r} I_{\text{conc}}$$

$r < c$ J è uniforme

$$I = J \pi c^2 \Rightarrow J = \frac{I}{\pi c^2}$$

$$I_{\text{conc}}(r) = J \cdot \pi r^2 = I \frac{r^2}{c^2}$$

$$\Rightarrow B(r) = \frac{\mu_0 I}{2\pi c^2} r$$

$c < r < b$

$$I_{\text{conc}}(r) = I \Rightarrow B(r) = \frac{\mu_0}{2\pi r} I$$

$b < r < a$ $J_{\text{int}} = \frac{I}{\pi(a^2 - b^2)}$

$$I_{\text{conc}}(r) = I - J_{\text{int}} \pi \cdot (r^2 - b^2) = I \frac{a^2 - r^2}{a^2 - b^2}$$

$$B(r) = \frac{\mu_0 I}{2\pi r} \cdot \frac{a^2 - r^2}{a^2 - b^2}$$

$z \rightarrow a$

$$I_{\text{cond}}(z) = I - I = \rho$$

$$\Rightarrow B(z) = 0$$

$$\textcircled{3} \quad E_{\text{in}} = \frac{1}{2} C_1 V_0^2$$

All'equilibrio si ha $V_1 = V_2$

$$\Rightarrow \frac{Q_1}{C_1} = \frac{Q_2}{C_2} \quad \text{e} \quad Q_1 + Q_2 = Q_0$$

$$Q_1 = \frac{C_1}{C_1 + C_2} Q_0$$

$$Q_2 = \frac{C_2}{C_1 + C_2} Q_0$$

$$E_{\text{fin}} = \frac{1}{2} \frac{Q_1^2}{C_1} + \frac{1}{2} \frac{Q_2^2}{C_2} = \frac{1}{2} \frac{Q_0^2}{C_1 + C_2} \Rightarrow$$

$$E_{\text{fin}} = \frac{1}{2} \frac{C_1^2 V_0^2}{C_1 + C_2}$$

$$E_{\text{diss}} = E_{\text{in}} - E_{\text{f}} = \frac{1}{2} \frac{C_1 C_2}{C_1 + C_2} V_0^2$$

è indipendente dal valore di R .

4

$$q = \int_0^{\infty} i dt = \int_0^{\infty} \frac{d\Phi/dt}{R} dt =$$

$$= -\frac{1}{R} \int_{\Phi_{in}}^{\Phi_{out}} d\Phi = \frac{\Phi_{in} - \Phi_{out}}{R} = \frac{\Phi_{in}}{R}$$

$$\left\{ \begin{aligned} R &= \rho \frac{l}{S} = \int \frac{2\pi r}{S} \\ \Phi_{in} &= B \pi r^2 \end{aligned} \right. \Rightarrow q = \frac{B \pi r^2}{2\pi r} S = \frac{B r S}{2r} = 1,47 \text{ C}$$

5) Lym de F-N-L;

$$\Phi(\vec{B}) = L \int_{L=\lambda/2} B_0 \cos(kx - \omega t) dx = \frac{L B_0}{k} \left[\sin(kx - \omega t) \right]_0^{\lambda/2} =$$

$$= \frac{L B_0}{k} \left[\sin\left(\frac{2\pi}{\lambda} \cdot \frac{\lambda}{2} - \omega t\right) - \sin(-\omega t) \right] =$$

$$= \frac{2L B_0}{k} \sin \omega t = \frac{\lambda B_0}{k} \sin \omega t$$

$$f_i = -\frac{\lambda B_0}{k} \omega \cos \omega t = -\lambda B_0 c \cos(\omega t)$$

$$i_i = \frac{f_i}{R} = -i_{\text{max}} \cos(\omega t)$$

$$i_{\text{max}} = \frac{B_0 c \lambda}{R} = 1 \text{ mA}$$

□